€€ T10'6S99/.9'dNddb R4 A 163
. R1 A C nc4o
m X1.1 ——1—
M enb_JKoHT R2 Tt A B
)= === = |k
= X B N c?
c R3 bt T HG4
- ] UT2 m RST cPu Ucc :m " RI13 1 uc4o
BQL LSS 3™ L7 IRz C-=
I | 4 XD 1.6 7 Uﬂl.,w 3
= LIXTAL2 1.5 1
= B2 5 6 ==TRi6 1 R22
0 g il L4 2 LI
= 4 === v 13 14 =RI8 ©
s —1 INTL 1.2 |3 {1
m X1.2 w‘ . I_I I_I vm 0 L1 5 [.._NHAw NE p uis .
(m} = T1 1.0 | )
Mpud. | S | 10 6ND 3.7 L cilRie B
| L2 [Jees
R6 A
B (Rel, V ue
m R
b=
5
> HG2
= 1
S w SA15-11
m_ 3 2
; : tlg]
=
g z e
d
=
=1
z
=
&
o DAL
g X1.3 oL C PBEUP.67/6659.011 33
> [ Hene Tour ™17 8 A Mum.__ [Macca |Macumad
.m., LA ] —1—> I_I.w_ |_|.”N @ = o eo—Tlim| Taeno cermenTHoe TC
- ove | 3 b____%.mo H Cxema anexkTPuueckas
m ove | 7 $ I_I I_I 2 I—I B NPYHLMNNANbHAOSA Nuem ] Mucmob 1
o : : . v .
M T, PYN 3ab0d .ﬂﬂ_\_aaﬁ___as
= banadatob




